Fractals, Vol. 28, No. 8 (2020) 2040003 (11 pages)

© The Author(s)

DOI: 10.1142/S0218348X20400034



# NEW GENERALIZATIONS IN THE SENSE OF THE WEIGHTED NON-SINGULAR FRACTIONAL INTEGRAL OPERATOR

SAIMA RASHID,\*,\*\* ZAKIA HAMMOUCH,†,‡,†† DUMITRU BALEANU $^\S,\ddagger$  and YU-MING CHU $^\P,\parallel,\S\S$ 

\*Department of Mathematics, Government College University, Faisalabad, Pakistan †Faculty of Science and Techniques Moulay Ismail University of Meknes 52000 Errachidia, Morocco

<sup>‡</sup>Department of Mathematics and Science Education, Harran University Sanliurfa, Turkey

§Department of Mathematics, Faculty of Arts and Sciences, Cankaya University Ankara, Turkey

¶Department of Mathematics, Huzhou University, Huzhou 313000, P. R. China ∥School of Mathematics and Statistics, Changsha University of Science & Technology Changsha 410114, P. R. China \*\*saimarashid@gcuf.edu.pk

 $^{\dagger\dagger}z.hammouch@fste.umi.ac.ma$   $^{\ddagger\ddagger}dumitru@cankaya.edu.tr$   $^{\S\S}chuyuming2005@126.com$ 

Received January 5, 2020 Accepted February 23, 2020 Published June 25, 2020

#### Abstract

In this paper, we propose a new fractional operator which is based on the weight function for Atangana–Baleanu ( $\mathcal{AB}$ )-fractional operators. A motivating characteristic is the generalization of classical variants within the weighted  $\mathcal{AB}$ -fractional integral. We aim to establish Minkowski

<sup>§§</sup>Corresponding author.

This is an Open Access article in the "Special Issue on Fractal and Fractional with Applications to Nature" published by World Scientific Publishing Company. It is distributed under the terms of the Creative Commons Attribution 4.0 (CC BY) License which permits use, distribution and reproduction in any medium, provided the original work is properly cited.

and reverse Hölder inequalities by employing weighted  $\mathcal{AB}$ -fractional integral. The consequences demonstrate that the obtained technique is well-organized and appropriate.

Keywords: Weighted  $\mathcal{AB}$ -Fractional Operator; Minkowski Inequality; Reverse Hölder Inequality.

# 1. INTRODUCTION

These days the fractional calculus has a significant job in assorted logical fields because of its fertile utilities in dynamical issues regarding engineering, information technology, image processing, signal processing, fluid dynamics, relativity theory, porous media and numerous others. 1-18 Many researchers focused on theories of earlier outcomes regarding the generalizations, descriptions, characterizations, design and so forth. The nonlocal fractional derivatives are mainly of two types, for example, the classical ones consisting of singular kernels (the Riemann-Liouville and Caputo derivatives) and the other ones have been presented with nonsingular kernels (the Atangana-Baleanu and Caputo-Fabrizio derivatives). Despite the fact that there are no concrete numerical avocations of innovative types of fractional operators, they acquired the attraction of numerous analysts in light of their advent in various issues, for recent modifications of fractional derivatives with nonsingular kernels, we recommend Refs. 19–27.

A decade ago, the study used to generalize integrals and derivatives of complex orders, specifically, integrals including variants depend on fractional calculus. Recently, a new formula with the aid of fractional operators was proposed by Dumitru and Fernandez<sup>28</sup> by inserting Mittag-Leffler as kernels, specifically, integrals including inequalities. The higher-order differential equations and fractional operators with several kinds of kernels ( $\mathcal{AB}$ fractional operators) have been investigated in regards of increasingly hypothetical ideas, while this new scheme of study played a crucial role to establish the semigroup property. 19,29 Rashid et al. 30 derived variants for a class of exponentially convex function by means of the extended Mittag-Leffler functions and also extended this concept in preinvex functions. Jarad et al.<sup>31</sup> established a class of ordinary differential equations in the frame of  $\mathcal{AB}$ fractional derivative. In Ref. 32, the authors derived Gronwall inequality and discussed its applications to fractional-order  $\mathcal{AB}$ -differential equation.

The multifaceted nature of uses informs scientists to expand the characterizations concerning the fractional operators. Consequently, numerous scientists have proposed the novel weighted versions of fractional derivatives. The hypothesis and utilizations for the weighted Caputo and Riemann-Liouville derivatives have been investigated in Refs. 33–40. Additionally, researchers are compelled to utilize the weighted fractional derivatives for the exploration of various kinds of variants in an exquisite manner.<sup>33</sup> In Ref. 22, authors contemplated the linear and nonlinear fractional differential equations by proposing the weighted Caputo-Fabrizio fractional operators and concentrated its properties in Laplace transform. The development of classical variants in the sense of fractional operators is supposed as an intriguing part of the information theory. Numerous variants with various fractional operators for the existence and uniqueness of the solutions of fractional shörodinger equations having kernels with singular and nonsingular have been established. The Mittag-Leffler functions as kernel have been used as a generalization of the classical inequalities. Additional associated work can be searched in Refs. 41–48.

Inequality is an indispensable tool in all branches of mathematics,  $^{49-55}$  it has wide applications in many other natural and human social sciences.  $^{56-62}$ 

This paper means to stretch out the investigation to the  $\mathcal{AB}$ -fractional operators. We present the weighted  $\mathcal{AB}$ -fractional operators and the new approach take into account for establishing the generalizations of several kind of inequalities. The novelties are a combination of the Minkowski inequality and reverse Hölder inequalities. Our outcomes are more broad and pertinent than the existing results. There are numerous descriptions of fractional operators, for instance, Riemann–Liouville, Hadamard, Liouville, Weyl, Erdelyi–Kober, and Katugampola, which can be supposed for acquiring similar outcomes.

Next, we demonstrate some preliminaries concerning to the  $\mathcal{AB}$ -fractional operator and weighted  $\mathcal{AB}$ -fractional operator.

**Definition 1.1 (Ref. 63).** For  $0 < \beta < 1$ , then the left-sided  $\mathcal{AB}$ -Caputo fractional derivative of a function  $\mathcal{F} \in C^*(x,y)$  is stated as

$$\mathcal{ABC}\mathcal{D}_{x}^{\beta,\lambda}\mathcal{F}(\lambda) = \frac{\mathbb{M}(\beta)}{1-\beta} \int_{x}^{\lambda} \mathcal{F}'(s) E_{\beta} \times \left[ \frac{-\beta(\lambda-s)^{\beta}}{1-\beta} \right] ds, \quad (1.1)$$

where the normalization function  $\mathbb{M}(\beta) > 0$  satisfies the conditions  $\mathbb{M}(0) = \mathbb{M}(1) = 1$  and  $E_{\beta}$  stands for the Mittag-Leffler function.

**Definition 1.2 (Ref. 64).** For  $0 < \beta < 1$ , then the left-sided  $\mathcal{AB}$ -fractional integral of a function  $\mathcal{F} \in C^*[x,y]$  is stated as

$$\mathcal{AB}\mathcal{T}_{x}^{\beta,\lambda}\mathcal{F}(\lambda) = \frac{1-\beta}{\mathbb{M}(\beta)}\mathcal{F}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)} \times \int_{x}^{\lambda} \mathcal{F}(s)(\lambda-s)^{\beta-1}ds, (1.2)$$

where the normalization function  $\mathbb{M}(\beta) > 0$  satisfies the conditions  $\mathbb{M}(0) = \mathbb{M}(1) = 1$ .

We start the novel methodology and initiate the concept of the left  $\mathcal{AB}$ -fractional derivative of a function  $\mathcal{F}(\lambda)$  in the sense of weight function  $\omega(\lambda)$ .

**Definition 1.3.** For  $0 < \beta < 1$ , then the left-sided weighted  $\mathcal{AB}$ -Caputo fractional derivative of a function  $\mathcal{F} \in C^*[x,y]$  in the sense of weight function  $\omega(\lambda)$  is stated as

$$\mathcal{AB}\mathcal{D}_{x,\omega}^{\beta,\lambda}\mathcal{F}(\lambda) = \frac{\mathbb{M}(\beta)}{1-\beta} \frac{1}{\omega(\lambda)} \int_{x}^{\lambda} E_{\beta} \left[ -\frac{\beta}{1-\beta} (\lambda - s)^{\beta} \right] \times \frac{d}{ds} (\omega \mathcal{F}(s)) ds, \tag{1.3}$$

where the normalization function  $\mathbb{M}(\beta) > 0$  satisfies the conditions  $\mathbb{M}(0) = \mathbb{M}(1) = 1$  and  $\omega(\lambda) \in C^*[x,y]$  such that  $\mathcal{F}' \in L[x,y]$ .

**Definition 1.4.** For  $0 < \beta < 1$ , then the weighted  $\mathcal{AB}$ -fractional integral of a function  $\mathcal{F} \in C^*[x, y]$  in the sense of weight function  $\omega(\lambda)$  is stated as

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mathcal{F}(\lambda) = \frac{1-\beta}{\mathbb{M}(\beta)}\mathcal{F}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)}\frac{1}{\omega(\lambda)} \times \int_{x}^{\lambda} \omega(s)\mathcal{F}(s)(\lambda-s)^{\beta-1}ds, (1.4)$$

where the normalization function  $\mathbb{M}(\beta) > 0$  satisfies the conditions  $\mathbb{M}(0) = \mathbb{M}(1) = 1$ .

Remark 1.1. If we choose  $\omega(\lambda) = 1$ , then the weighted  $\mathcal{AB}$ -fractional integral, concurs with the ordinary  $\mathcal{AB}$ -fractional integral.

# 2. MINKOWSKI INEQUALITY IN THE FRAME OF WEIGHTED AB-FRACTIONAL

**Theorem 2.1.** For  $0 < \beta < 1$  and  $\alpha \geq 1$ , and suppose that two positive functions  $\mu, \nu \in$ 

 $\mathbb{C}_{\beta}[x,y]$  defined on  $[0,\infty)$  with respect to the weight function w such that  ${}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\mu(\lambda)<\infty$  and  ${}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\nu(\lambda)<\infty$ ,  $\lambda>x$ . If  $0<\delta\leq \frac{\mu(\lambda)}{\nu(\lambda)}\leq \gamma$  for some  $\delta,\gamma\in\mathbb{R}_+$  and  $\forall\lambda\in[x,y]$ , then the following weighted  $\mathcal{A}\mathcal{B}$ -fractional integral inequality holds:

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} + \left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} 
\leq \mathcal{H}_{1} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha} \right]^{\frac{1}{\alpha}},$$
(2.1)

where  $\mathcal{H}_1 = \frac{\gamma(\delta+1)+(\gamma+1)}{(1+\delta)(1+\gamma)}$ .

**Proof.** Under the assumption  $\frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$ , one obtains

$$\mu(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right) \left(\mu(\lambda) + \nu(\lambda)\right).$$
 (2.2)

Applying the  $\alpha$ th power on both sides of (2.2), we have

$$\mu^{\alpha}(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right)^{\alpha} (\mu(\lambda) + \nu(\lambda))^{\alpha}.$$
(2.3)

Taking product on both sides of (2.3) by  $\frac{1-\beta}{\mathbf{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\alpha}(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right)^{\alpha} \frac{1-\beta}{\mathbb{M}(\beta)} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha}.$$
(2.4)

Further, replacing  $\lambda$  by s in (2.3) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to the variable s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) \mu^{\alpha}(s) ds$$

$$\leq \left(\frac{\gamma}{\gamma + 1}\right)^{\alpha} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s) \left(\mu(s) + \nu(s)\right)^{\alpha} ds. \tag{2.5}$$

Summing up (2.4) and (2.5), we obtain

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\alpha}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\times \int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\mu^{\alpha}(s)ds \\ &\leq \left(\frac{\gamma}{\gamma+1}\right)^{\alpha} \left[\frac{1-\beta}{\mathbb{M}(\beta)}\left(\mu(\lambda)+\nu(\lambda)\right)^{\alpha} \\ &+ \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda-s)^{\beta-1} \\ &\times \omega(s)\left(\mu(s)+\nu(s)\right)^{\alpha}ds \right]. \end{split}$$

S. Rashid et al.

This implies

$${}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha}(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right)^{\alpha} {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha}.$$
(2.6)

Taking the  $\frac{1}{\alpha}$ th power of both sides of (2.6), we find

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} \\
\leq \left( \frac{\gamma}{\gamma+1} \right) \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha} \right]^{\frac{1}{\alpha}}. \quad (2.7)$$

On the other hand, by using the condition  $0 < \delta \le \frac{\mu(\lambda)}{\nu(\lambda)}$ , we get

$$\nu^{\alpha}(\lambda) \le \frac{1}{(1+\delta)^{\alpha}} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha}. \tag{2.8}$$

Taking product on both sides of (2.8) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\nu^{\alpha}(\lambda) \le \frac{1}{(1+\delta)^{\alpha}} \frac{1-\beta}{\mathbb{M}(\beta)} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha}.$$
(2.9)

Further, replacing  $\lambda$  by s in (2.9) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) \nu^{\alpha}(s) ds$$

$$\leq \frac{1}{(1 + \delta)^{\alpha}} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s) \left(\mu(s) + \nu(s)\right)^{\alpha} ds. \tag{2.10}$$

Summing up (2.9) and (2.10), one obtains

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\nu^{\alpha}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\times \int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\nu^{\alpha}(s)ds \\ &\leq \frac{1}{(1+\delta)^{\alpha}} \left[ \frac{1-\beta}{\mathbb{M}(\beta)} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha} \right. \\ &\left. + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda-s)^{\beta-1} \right. \\ &\left. \times \omega(s) \left( \mu(s) + \nu(s) \right)^{\alpha} ds \right], \end{split}$$

which can be expressed as

$$\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha}(\lambda) 
\leq \left(\frac{1}{\delta+1}\right)^{\alpha} \mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha}. \quad (2.11)$$

Applying the  $\frac{1}{p}$ th power on both sides of (2.11), we find

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} \\
\leq \frac{1}{\delta+1} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha} \right]^{\frac{1}{\alpha}}. \quad (2.12)$$

Adding (2.7) and (2.11) we obtain

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} + \left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha}(\lambda) \right)^{\frac{1}{\alpha}} 
\leq \mathcal{H}_{1} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha} \right]^{\frac{1}{\alpha}}.$$

This completes the proof.

# 3. HÖLDER-TYPE INEQUALITIES FOR WEIGHTED AB-FRACTIONAL INTEGRAL OPERATOR

**Theorem 3.1.** For  $0 < \beta < 1$ ,  $\alpha_1, \alpha_2 > 1$ , with  $\frac{1}{\alpha_1} + \frac{1}{\alpha_2} = 1$  and suppose that two positive functions  $\mu, \nu \in \mathbb{C}_{\beta}[x, y]$  defined on  $[0, \infty)$  with respect to the weight function w such that  ${}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\mu(\lambda) < \infty$  and  ${}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\nu(\lambda) < \infty$  for all  $\lambda > x$ . If  $0 < \delta \leq \frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$  for some  $\delta, \gamma \in \mathbb{R}_+$  and for all  $\lambda \in [x, y]$ , then the following weighted  $\mathcal{A}\mathcal{B}$ -fractional integral inequality holds:

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda) \right)^{\frac{1}{\alpha_{1}}} \left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu(\lambda) \right)^{\frac{1}{\alpha_{2}}} \\
\leq \mathcal{H}_{2} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda) \right) \right], \quad (3.1)$$

where  $\mathcal{H}_2 = \left(\frac{\gamma}{\delta}\right)^{\frac{1}{\alpha_1 \alpha_2}}$ .

**Proof.** Utilizing the supposition  $\frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$ , we get

$$\mu^{\frac{1}{\alpha_2}}(\lambda) \le \gamma^{\frac{1}{\alpha_2}} \nu^{\frac{1}{\alpha_2}}(\lambda). \tag{3.2}$$

Taking product (3.2) by  $\mu^{\frac{1}{\alpha_1}}$  and using the assumption  $\frac{1}{\alpha_1} + \frac{1}{\alpha_2} = 1$ , we have

$$\mu(\lambda) \le \gamma^{\frac{1}{\alpha_2}} \mu^{\frac{1}{\alpha_1}}(\lambda) \nu^{\frac{1}{\alpha_2}}(\lambda). \tag{3.3}$$

Taking product on both sides by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\mu(\lambda) \le \gamma^{\frac{1}{\alpha_2}} \frac{1-\beta}{\mathbb{M}(\beta)} \mu^{\frac{1}{\alpha_1}}(\lambda) \nu^{\frac{1}{\alpha_2}}(\lambda). \quad (3.4)$$

Again, replacing  $\lambda$  by s in (3.3) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the

resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s)\mu(s)ds$$

$$\leq \gamma^{\frac{1}{\alpha_{2}}} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s)\mu^{\frac{1}{\alpha_{1}}}(s)\nu^{\frac{1}{\alpha_{2}}}(s)ds. \tag{3.5}$$

Now, by adding (3.4) and (3.5), we find

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\mu(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\mu(s)ds \\ &\leq \gamma^{\frac{1}{\alpha_{2}}} \left[ \frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda) \right. \\ &\left. + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda-s)^{\beta-1} \right. \\ &\left. \times \omega(s)\mu^{\frac{1}{\alpha_{1}}}(s)\nu^{\frac{1}{\alpha_{2}}}(s)ds \right]. \end{split}$$

This implies

$${}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\mu(\lambda) \leq \gamma^{\frac{1}{\alpha_2}} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\mu^{\frac{1}{\alpha_1}}(\lambda)\nu^{\frac{1}{\alpha_2}}(\lambda) \right]. (3.6)$$

Applying the  $\frac{1}{\alpha_1}$ th power on both sides of (3.6), we get

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda) \right)^{\frac{1}{\alpha_{1}}} \\
\leq \gamma^{\frac{1}{\alpha_{1}\alpha_{2}}} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda) \right]^{\frac{1}{\alpha_{1}}}. (3.7)$$

Now, by using the supposition  $\delta \leq \frac{\mu(\lambda)}{\nu(\lambda)}$ , we have

$$\nu^{\frac{1}{\alpha_1}}(\lambda) \le \delta^{\frac{-1}{\alpha}} \mu^{\frac{1}{\alpha_1}}(\lambda). \tag{3.8}$$

Taking product on both sides of (3.8) by  $\nu^{\frac{1}{\alpha_2}}$ , we get

$$\nu(\lambda) \le \delta^{\frac{-1}{\alpha}} \mu^{\frac{1}{\alpha_1}}(\lambda) \nu^{\frac{1}{\alpha_2}}. \tag{3.9}$$

Again, taking product on both sides of (3.9) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\nu(\lambda) \le \delta^{\frac{-1}{\alpha}} \frac{1-\beta}{\mathbb{M}(\beta)} \mu^{\frac{1}{\alpha_1}}(\lambda) \nu^{\frac{1}{\alpha_2}}(\lambda). \quad (3.10)$$

Replacing  $\lambda$  by s in (3.9), then taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s)\nu(s)ds$$

$$\leq \delta^{\frac{-1}{\alpha}} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s)\mu^{\frac{1}{\alpha_{1}}}(s)\nu^{\frac{1}{\alpha_{2}}}(s)ds. \tag{3.11}$$

Now, summing up (3.10) and (3.12) we find

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\nu(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\nu(s)ds \\ &\leq \delta^{\frac{-1}{\alpha}} \left[ \frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \right. \\ & \times \int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\mu^{\frac{1}{\alpha_{1}}}(s)\nu^{\frac{1}{\alpha_{2}}}(s)ds \right]. \end{split}$$

This implies

$${}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu(\lambda) \le \delta^{-\frac{1}{\alpha_1}} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\frac{1}{\alpha_1}}(\lambda)\nu^{\frac{1}{\alpha_2}}(\lambda) \right]. \tag{3.12}$$

Applying the  $\frac{1}{q}$ th power on both sides of (3.12), we have

$$\left(\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu(\lambda)\right)^{\frac{1}{\alpha_{2}}}$$

$$\leq \delta^{-\frac{1}{\alpha_{1}\alpha_{2}}}\left[\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda)\right]^{\frac{1}{\alpha_{2}}}.$$
(3.13)

Finally, conducting product between (3.7) and (3.13), we obtain

$$\left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda) \right)^{\frac{1}{\alpha_{1}}} \left( {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu(\lambda) \right)^{\frac{1}{\alpha_{2}}} \\
\leq \mathcal{H}_{2} \left[ {}^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\frac{1}{\alpha_{1}}}(\lambda)\nu^{\frac{1}{\alpha_{2}}}(\lambda) \right]^{\frac{1}{\alpha_{2}}}.$$
(3.14)

**Theorem 3.2.** For  $0 < \beta < 1$ ,  $\alpha_1, \alpha_2 > 1$ , with  $\frac{1}{\alpha_1} + \frac{1}{\alpha_2} = 1$  and suppose that two positive functions  $\mu, \nu \in \mathbb{C}_{\beta}[x, y]$  are defined on  $[0, \infty)$  with respect to the weight function w such that  ${}^{\mathcal{AB}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\mu(\lambda) < \infty$  and  ${}^{\mathcal{AB}}\mathcal{T}^{\beta,\lambda}_{x,\omega}\nu(\lambda) < \infty$ ,  $\lambda > x$ . If  $0 < \delta \leq \frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$  for some  $\delta, \gamma \in \mathbb{R}_+$  and  $\forall \lambda \in [x, y]$ , then the following weighted  $\mathcal{AB}$ -fractional integral inequality holds:

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\left(\mu(\lambda) + \nu(\lambda)\right)$$

$$\leq \mathcal{H}_{3}^{\mathcal{AB}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\left(\mu^{\alpha_{1}}(\lambda) + \nu^{\alpha_{1}}(\lambda)\right)$$

$$+ \mathcal{H}_{4}^{\mathcal{AB}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\left(\mu^{\alpha_{2}}(\lambda) + \nu^{\alpha_{2}}(\lambda)\right), (3.15)$$

where  $\mathcal{H}_3 = \frac{2^{\alpha_1 - 1} \gamma^{\alpha_1}}{\alpha_1 (\gamma + 1)^{\alpha_1}}$  and  $\mathcal{H}_4 = \frac{2^{\alpha_2 - 1}}{\alpha_2 (\delta + 1)^{\alpha_2}}$ .

**Proof.** Utilizing the assumption  $\frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$ , one obtains

$$\mu(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right) (\mu(\lambda) + \nu(\lambda)).$$
 (3.16)

Taking the  $\alpha_1$ th power of both sides of (3.16), we have

$$\mu^{\alpha_1}(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_1} (\mu(\lambda) + \nu(\lambda))^{\alpha_1}. \quad (3.17)$$

Taking product on both sides of (3.17) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\alpha_1}(\lambda) \le \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_1} \frac{1-\beta}{\mathbb{M}(\beta)} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_1}.$$
(3.18)

Further, replacing  $\lambda$  by s in (3.17) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) \mu^{\alpha_{1}}(s) ds$$

$$\leq \left(\frac{\gamma}{\gamma + 1}\right)^{\alpha_{1}} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s) \left(\mu(s) + \nu(s)\right)^{\alpha_{1}} ds. \tag{3.19}$$

Summing up (3.18) and (3.19), one obtains

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\mu^{\alpha_1}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\int_x^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\mu^{\alpha_1}(s)ds \\ &\leq \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_1} \left[\frac{1-\beta}{\mathbb{M}(\beta)}\left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_1} \\ &+ \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_x^{\lambda} (\lambda-s)^{\beta-1} \\ &\times \omega(s)\left(\mu(s) + \nu(s)\right)^{\alpha_1} ds \right]. \end{split}$$

This implies

$$^{\mathcal{A}\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha_{1}}(\lambda)$$

$$\leq \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_{1}} {^{\mathcal{A}\mathcal{B}}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_{1}}. (3.20)$$

Multiplying (3.20) by the constant  $\frac{1}{\alpha_1}$ , we find

$$\frac{1}{\alpha_1} \mathcal{A}^{\beta} \mathcal{T}_{x,\omega}^{\beta,\lambda} \mu^{\alpha_1}(\lambda) \leq \frac{1}{\alpha_1} \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_1}$$

$$\mathcal{A}^{\beta} \mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_1}.$$
(3.21)

On the other hand, under the supposition  $0 < \delta \le \frac{\mu(\lambda)}{\nu(\lambda)}$ , we acquire

$$\nu^{\alpha_2}(\lambda) \le \frac{1}{(\delta+1)^{\alpha_2}} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_2}. \quad (3.22)$$

Multiplying (3.22) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\nu^{\alpha_2}(\lambda) \le \frac{1}{(\delta+1)^{\alpha_2}} \frac{1-\beta}{\mathbb{M}(\beta)} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_2}.$$
(3.23)

Further, replacing  $\lambda$  by s in (3.22) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) \nu^{\alpha_{2}}(s) ds$$

$$\leq \frac{1}{(\delta + 1)^{\alpha_{2}}} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s) \left(\mu(s) + \nu(s)\right)^{\alpha_{2}} ds. \tag{3.24}$$

Summing up (3.23) and (3.24), one obtains

$$\begin{split} &\frac{1-\beta}{\mathbb{M}(\beta)}\nu^{\alpha_2}(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \\ &\int_x^{\lambda} (\lambda-s)^{\beta-1}\omega(s)\nu^{\alpha_2}(s)ds \\ &\leq \frac{1}{(\delta+1)^{\alpha_2}} \left[ \frac{1-\beta}{\mathbb{M}(\beta)} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_2} \right. \\ &\left. + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_x^{\lambda} (\lambda-s)^{\beta-1} \right. \\ &\left. \times \omega(s) \left(\mu(s) + \nu(s)\right)^{\alpha_2} ds \right]. \end{split}$$

This implies

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha_2}(\lambda) \le \left(\frac{1}{\delta+1}\right)^{\alpha_2}$$

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_2}.$$
(3.25)

Multiplying (3.25) by  $\frac{1}{\alpha_2}$ , we have

$$\frac{1}{\alpha_2} \mathcal{AB} \mathcal{T}_{x,\omega}^{\beta,\lambda} \nu^{\alpha_2}(\lambda) \leq \frac{1}{\alpha_2} \left( \frac{1}{\delta + 1} \right)^{\alpha_2} \times \mathcal{AB} \mathcal{T}_{x,\omega}^{\beta,\lambda} \left( \mu(\lambda) + \nu(\lambda) \right)^{\alpha_2}.$$
(3.26)

Summing up (3.21) and (3.26), we get

$$\frac{1}{\alpha_{1}} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} \mu^{\alpha_{1}}(\lambda) + \frac{1}{\alpha_{2}} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} \nu^{\alpha_{2}}(\lambda)$$

$$\leq \frac{1}{\alpha_{1}} \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_{1}} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_{1}}$$

$$+ \frac{1}{\alpha_{2}} \left(\frac{1}{\delta+1}\right)^{\alpha_{2}} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda) + \nu(\lambda)\right)^{\alpha_{2}}.$$
(3.27)

Taking into account Young's inequality, we have

$$\mu(\lambda)\nu(\lambda) \le \frac{\mu^{\alpha_1}(\lambda)}{\alpha_1} + \frac{\nu^{\alpha_2}(\lambda)}{\alpha_2}.$$
 (3.28)

Multiplying (3.28) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we get

$$\frac{1-\beta}{\mathbb{M}(\beta)}\mu(\lambda)\nu(\lambda) \le \frac{1-\beta}{\mathbb{M}(\beta)} \left(\frac{\mu^{\alpha_1}(\lambda)}{\alpha_1} + \frac{\nu^{\alpha_2}(\lambda)}{\alpha_2}\right). \tag{3.29}$$

Again, replacing  $\lambda$  by s in (3.28) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}\omega(s)\mu(s)\nu(s)ds$$

$$\leq \int_{x}^{\lambda} \frac{\beta(\lambda - s)^{\beta - 1}\omega(s)}{\alpha_{1}\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}\mu^{\alpha_{1}}(s)ds$$

$$+ \int_{x}^{\lambda} \frac{\beta(\lambda - s)^{\beta - 1}\omega(s)}{\alpha_{2}\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}\nu^{\alpha_{2}}(s)ds. \quad (3.30)$$

Summing up (3.29) and (3.30), we obtain

$$\frac{1-\beta}{\mathbb{M}(\beta)}\mu(\lambda)\nu(\lambda) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$$

$$\times \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}\omega(s)\mu(s)\nu(s)ds$$

$$\leq \frac{1-\beta}{\mathbb{M}(\beta)} \left(\frac{\mu^{\alpha_{1}}(\lambda)}{\alpha_{1}} + \frac{\nu^{\alpha_{2}}(\lambda)}{\alpha_{2}}\right)$$

$$+ \int_{x}^{\lambda} \frac{\beta(\lambda - s)^{\beta - 1}\omega(s)}{\alpha_{1}\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}\mu^{\alpha_{1}}(s)ds$$

$$+ \int_{x}^{\lambda} \frac{\beta(\lambda - s)^{\beta - 1}\omega(s)}{\alpha_{2}\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}\nu^{\alpha_{2}}(s)ds. \quad (3.31)$$

This implies that

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda)\nu(\lambda) \leq \frac{1}{\alpha_1} \mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu^{\alpha_1}(\lambda) + \frac{1}{\alpha_2} \mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu^{\alpha_2}(\lambda). \quad (3.32)$$

Utilizing (3.27) and (3.32), we have

$$\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda)\nu(\lambda) 
\leq \frac{1}{\alpha_{1}} \left(\frac{\gamma}{\gamma+1}\right)^{\alpha_{1}} \left[\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda)+\nu(\lambda)\right)^{\alpha_{1}}\right] 
+ \frac{1}{\alpha_{2}} \left(\frac{1}{\delta+1}\right)^{\alpha_{2}} \left[\mathcal{A}^{\mathcal{B}}\mathcal{T}_{x,\omega}^{\beta,\lambda} \left(\mu(\lambda)+\nu(\lambda)\right)^{\alpha_{2}}\right].$$
(3.33)

Using the inequality  $(a_1 + a_2)^p \le 2^{p-1}(a_1^p + a_2^p)$ ,  $a_1, a_2 \ge 0, p > 1$ , we have

$$(\mu(\lambda) + \nu(\lambda))^{\alpha_1} \le 2^{\alpha_1 - 1} (\mu(\lambda)^{\alpha_1} + \nu(\lambda)^{\alpha_1}).$$
 (3.34)

Multiplying (3.34) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we find

$$\frac{1-\beta}{\mathbb{M}(\beta)}(\mu(\lambda) + \nu(\lambda))^{\alpha_1}$$

$$\leq 2^{\alpha_1 - 1} \frac{1-\beta}{\mathbb{M}(\beta)}(\mu(\lambda)^{\alpha_1} + \nu(\lambda)^{\alpha_1}). \quad (3.35)$$

Again, replacing  $\lambda$  by s in (3.34) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) (\mu(s) + \nu(s))^{\alpha_{1}} ds$$

$$\leq 2^{\alpha_{1} - 1} \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s) (\mu(s)^{\alpha_{1}} + \nu(s)^{\alpha_{1}}) ds. \tag{3.36}$$

Summing up (3.35) and (3.36), we obtain

$$\frac{1-\beta}{\mathbb{M}(\beta)}(\mu(\lambda)+\nu(\lambda))^{\alpha_1} + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$$

$$\int_{x}^{\lambda} (\lambda-s)^{\beta-1}\omega(s)(\mu(s)+\nu(s))^{\alpha_1}ds$$

$$\leq 2^{\alpha_1-1} \left[ \frac{1-\beta}{\mathbb{M}(\beta)}(\mu(\lambda)^{\alpha_1}+\nu(\lambda)^{\alpha_1}) + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda-s)^{\beta-1} \times \omega(s)(\mu(s)^{\alpha_1}+\nu(s)^{\alpha_1}) \right] ds.$$

This implies

$$\mathcal{AB} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda) + \nu(\lambda))^{\alpha_1}$$

$$\leq 2^{\alpha_1 - 1} \mathcal{AB} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(s)^{\alpha_1} + \nu(s)^{\alpha_1}). (3.37)$$

Adopting the same procedure, we get

$$\mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda) + \nu(\lambda))^{\alpha_2}$$

$$\leq 2^{\alpha_2 - 1} \mathcal{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(s)^{\alpha_2} + \nu(s)^{\alpha_2}). (3.38)$$

Substituting (3.37) and (3.38) into (3.33) leads to the desired inequality (3.15). This completes the proof.

Theorem 3.3. For  $0 < \beta < 1$ ,  $\alpha_1, \alpha_2 > 1$ , with  $\frac{1}{\alpha_1} + \frac{1}{\alpha_2} = 1$  and suppose that two positive functions  $\mu, \nu \in \mathbb{C}_{\beta}[x, y]$  defined on  $[0, \infty)$  with respect to the weight function w such that  ${}^{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\mu(\lambda) < \infty$  and  ${}^{AB}\mathcal{T}_{x,\omega}^{\beta,\lambda}\nu(\lambda) < \infty$ ,  $\lambda > x$ . If  $0 < \delta \leq \frac{\mu(\lambda)}{\nu(\lambda)} \leq \gamma$  for

some  $\delta, \gamma \in \mathbb{R}_+$  and  $\forall \lambda \in [x, y]$ , then the following weighted  $\mathcal{AB}$ -fractional integral inequality holds:

$$\frac{1}{\gamma} \mathcal{A}^{\beta} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda)\nu(\lambda))$$

$$\leq \mathcal{A}^{\beta} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda) + \nu(\lambda))^{2}$$

$$\leq \frac{1}{\delta} \mathcal{A}^{\beta} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda)\nu(\lambda)). \tag{3.39}$$

**Proof.** Utilizing the assumption

$$0 < \delta \le \frac{\mu(\lambda)}{\nu(\lambda)} \le \gamma, \tag{3.40}$$

we conclude that

$$\delta + 1\nu(\lambda) \le \mu(\lambda) + \nu(\lambda) \le 1 + \gamma\nu(\lambda).$$
 (3.41)

Also.

$$\frac{\gamma+1}{\gamma}\mu(\lambda) \le \mu(\lambda) + \nu(\lambda) \le \frac{1+\alpha}{\alpha}\mu(\lambda). \quad (3.42)$$

By (3.41) and (3.42), we obtain

$$\frac{1}{\gamma}\mu(\lambda)\nu(\lambda) \le \frac{(\mu(\lambda) + \nu(\lambda))^2}{(1+\delta)(1+\gamma)} \le \frac{1}{\delta}\mu(\lambda)\nu(\lambda).$$
(3.43)

Multiplying (3.43) by  $\frac{1-\beta}{\mathbb{M}(\beta)}$ , we have

$$\frac{1-\beta}{\gamma \mathbb{M}(\beta)} \mu(\lambda) \nu(\lambda) \leq \frac{1-\beta}{\mathbb{M}(\beta)} \frac{(\mu(\lambda) + \nu(\lambda))^2}{(1+\delta)(1+\gamma)} \\
\leq \frac{1-\beta}{\delta \mathbb{M}(\beta)} \mu(\lambda) \nu(\lambda). \tag{3.44}$$

Now, replacing  $\lambda$  by s in (3.43) and taking product on both sides by  $\frac{\beta(\lambda-s)^{\beta-1}\omega(s)}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)}$ , and integrating the resultant inequality with respect to s, we get

$$\frac{\gamma\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}\omega(s)\mu(s)\nu(s)ds$$

$$\leq \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s)\frac{(\mu(s) + \nu(s))^{2}}{(1 + \delta)(1 + \gamma)}ds$$

$$\leq \frac{\beta}{\delta\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_{x}^{\lambda} (\lambda - s)^{\beta - 1}$$

$$\times \omega(s)\mu(s)\nu(s)ds. \tag{3.45}$$

Summing up (3.44) and (3.45), we have

$$\frac{1-\beta}{\gamma \mathbb{M}(\beta)} \mu(\lambda) \nu(\lambda) + \frac{\gamma \beta}{\mathbb{M}(\beta) \Gamma(\beta) \omega(\lambda)} \times \int_{x}^{\lambda} (\lambda - s)^{\beta - 1} \omega(s) \mu(s) \nu(s) ds$$

$$\leq \frac{1-\beta}{\mathbb{M}(\beta)} \frac{(\mu(\lambda) + \nu(\lambda))^2}{(1+\delta)(1+\gamma)} + \frac{\beta}{\mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \int_x^{\lambda} (\lambda - s)^{\beta - 1} \times \omega(s) \frac{(\mu(s) + \nu(s))^2}{(1+\delta)(1+\gamma)} ds$$

$$\leq \frac{1-\beta}{\delta \mathbb{M}(\beta)} \mu(\lambda)\nu(\lambda) + \frac{\beta}{\delta \mathbb{M}(\beta)\Gamma(\beta)\omega(\lambda)} \times \int_x^{\lambda} (\lambda - s)^{\beta - 1} \omega(s)\mu(s)\nu(s) ds,$$

we conclude that

$$\frac{1}{\gamma} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda)\nu(\lambda)) \leq {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda) + \nu(\lambda))^{2} 
\leq \frac{1}{\delta} {}^{\mathcal{A}\mathcal{B}} \mathcal{T}_{x,\omega}^{\beta,\lambda} (\mu(\lambda)\nu(\lambda)).$$
(3.46)

This completes the proof.

### 4. CONCLUSION

In this work, we have employed the newly defined weighted  $\mathcal{AB}$ -fractional operators for Minkowski's and reverse Hölder inequalities. To illustrate the applicability and effectiveness of the presented operator, the established variants are the generalizations of classical inequalities under certain conditions. On account of the sort of the kernel, it is notable that dealing with  $\mathcal{AB}$ -fractional operators is quite troublesome than managing the Caputo-Fabrizio operators. Subsequently, the issue of presenting and considering the weighted  $\mathcal{AB}$ -fractional operators in the sense of the weight function  $\omega(\lambda)$  with their highlights is as yet open. With the aid of this study, we derived more general variants than in the classical cases. For conceivable futuristic research, we propose applying the acquired inequalities to demonstrate the existence of solutions of fractional differential equations.

## ACKNOWLEDGMENTS

The authors would like to thank the anonymous referees for their valuable suggestions and comments. This work was supported by the National Natural Science Foundation of China (Grant Nos. 11971142, 61673169, 11701176, 11626101, 11601485 and 11871202).

# REFERENCES

- M. Adil Khan, S. Begum, Y. Khurshid and Y.-M. Chu, Ostrowski type inequalities involving conformable fractional integrals, *J. Inequal. Appl.* 2018 (2018) 70.
- M. Adil Khan, Y.-M. Chu, A. Kashuri, R. Liko and G. Ali, Conformable fractional integrals versions of Hermite-Hadamard inequalities and their generalizations, J. Funct. Spaces 2018 (2018) 6928130.
- M. Adil Khan, Y. Khurshid, T.-S. Du and Y.-M. Chu, Generalization of Hermite-Hadamard type inequalities via conformable fractional integrals, J. Funct. Spaces 2018 (2018) 5357463.
- M. Adil Khan, A. Iqbal, M. Suleman and Y.-M. Chu, Hermite-Hadamard type inequalities for fractional integrals via Green's function, *J. Inequal.* Appl. 2018 (2018) 161.
- M. Adil Khan, N. Mohammad, E. R. Nwaeze and Y.-M. Chu, Quantum Hermite-Hadamard inequality by means of a Green function, *Adv. Difference* Equ. 2020 (2020) 99.
- A. Atangana, On the new fractional derivative and application to nonlinear Fisher's reaction-diffusion equation, Appl. Math. Comput. 273 (2016) 948–956.
- A. Atangana and B. S. T. Alkahtani, Extension of the resistance, inductance, capacitance electrical circuit to fractional derivative without singular kernel, Adv. Mech. Eng. 7(6) (2015) 1–6.
- D. Baleanu and B. Shiri, Collocation methods for fractional differential equations involving nonsingular kernel, *Chaos Solitons Fractals* 116 (2018) 136–145.
- D. Baleanu, B. Shiri, H. M. Srivastava and M. Al Qurashi, A Chebyshev spectral method based on operational matrix for fractional differential equations involving non-singular Mittag-Leffler kernel, Adv. Difference Equ. 2018 (2018) 353.
- J.-F. Cheng and Y.-M. Chu, Solution to the linear fractional differential equation using Adomian decomposition method, *Math. Probl. Eng.* 2011 (2011) 587068.
- 11. J.-F. Cheng and Y.-M. Chu, On the fractional difference equations of order (2,q), *Abstr. Appl. Anal.* **2011** (2011) 497259.
- 12. J.-F. Cheng and Y.-M. Chu, Fractional difference equations with real variable, *Abstr. Appl. Anal.* **2012** (2012) 918529.
- 13. Y.-M. Chu, M. Adil Khan, T. Ali and S. S. Dragomir, Inequalities for  $\alpha$ -fractional differentiable functions, J. Inequal. Appl. **2017** (2017) 93.
- 14. A. Iqbal, M. Adil Khan, S. Ullah and Y.-M. Chu, Some new Hermite—Hadamard-type inequalities associated with conformable fractional integrals and their applications, *J. Funct. Spaces* **2020** (2020) 9845407.

- Y. Khurshid, M. Adil Khan, Y.-M. Chu and Z. A. Khan, Hermite-Hadamard-Fejér inequalities for conformable fractional integrals via preinvex functions, J. Funct. Spaces 2019 (2019) 3146210.
- S. Rashid, F. Jarad, H. Kalsoom and Y.-M. Chu, On Pólya–Szegö and Čebyšev type inequalities via generalized k-fractional integrals, Adv. Difference Equ. 2020 (2020) 125.
- S. Rashid, F. Jarad, M. A. Noor, H. Kalsoom and Y.-M. Chu, Inequalities by means of generalized proportional fractional integral operators with respect to another function, *Math.* 7(12) (2020) 1225, https://doi.org/10.3390/math7121225.
- S. Rashid, M. A. Noor, K. I. Noor and Y.-M. Chu, Ostrowski type inequalities in the sense of generalized K-fractional integral operator for exponentially convex functions, AIMS Math. 5(3) (2020) 2629– 2645.
- T. Abdeljawad and D. Baleanu, Integration by parts and its applications of a new nonlocal derivative with Mittag-Leffler nonsingular kernel, *J. Nonlinear* Sci. Appl. 10(3) (2017) 1098–1107.
- Z. Alijani, D. Baleanu, B. Shiri and G. Wu, Spline collocation methods for systems of fuzzy fractional differential equations, *Chaos Solitons Fractals* 131 (2020) 109510.
- 21. A. I. Aliya, A. S. Alshomrani, Y.-J. Li, M. Inc and D. Baleanu, Existence theory and numerical simulation of HIV-I cure model with new fractional derivative possessing a non-singular kernel, *Adv. Difference Equ.* **2019** (2019) 408.
- M. Al-Refai and A. M. Jarrah, Fundamental results on weighted Caputo-Fabrizio fractional derivative, Chaos Solitons Fractals 126 (2019) 7-11.
- D. Baleanu, J. H. Asad and A. Jajarmi, The fractional model of spring pendulum: New features within different kernels, Proc. Rom. Acad. Ser. A Math. Phys. Tech. Sci. Inf. Sci. 19(3) (2018) 447–454.
- 24. D. Baleanu, A. Jajarmi, S. S. Sajjadi and D. Mozyrska, A new fractional model and optimal control of a tumor-immune surveillance with nonsingular derivative operator, *Chaos* 29(8) (2019) 083127.
- M. Hajipour, A. Jajarmi and D. Baleanu, On the accurate discretization of a highly nonlinear boundary value problem, *Numer. Algorithms* 79(3) (2018) 679–695.
- M. Hajipour, A. Jajarmi, A. Malek and D. Baleanu, Positivity-preserving sixth-order implicit finite difference weighted essentially non-oscillatory scheme for the nonlinear heat equation, *Appl. Math.* Comput. 325 (2018) 146–158.
- 27. A. Jajarmi, S. Arshad and D. Baleanu, A new fractional modelling and control strategy for the

- outbreak of dengue fever, Physica~A~ **535** (2019) 122524.
- D. Baleanu and A. Fernandez, On some new properties of fractional derivatives with Mittag-Leffler kernel, Commun. Nonlinear Sci. Numer. Simul. 59 (2018) 444–462.
- T. Abdeljawad, Fractional operators with generalized Mittag-Leffler kernels and their iterated differintegrals, Chaos 29(2) (2019) 023102.
- S. Rashid, F. Safdar, A. O. Akdemir, M. A. Noor and K. I. Noor, Some new fractional integral inequalities for exponentially m-convex functions via extended generalized Mittag-Leffler function, J. Inequal. Appl. 2019 (2019) 299, doi:10.1186/s13660-019-2248-7.
- 31. F. Jarad, T. Abdeljawad and Z. Hammouch, On a class of ordinary differential equations in the frame of Atangana–Baleanu fractional derivative, *Chaos Solitons Fractals* **117** (2018) 16–20.
- 32. Y. Adjabi, F. Jarad and T. Abdeljawad, On generalized fractional operators and a Gronwall type inequality with applications, *Filomat* **31**(17) (2017) 5457–5473.
- O. P. Agarwal, Some generalized fractional calculus operators and their applications in integral equations, Fract. Calc. Appl. Anal. 15(4) (2012) 700–711.
- 34. R. Almeida, A Caputo fractional derivative of a function with respect to another function, *Commun. Nonlinear Sci. Numer. Simul.* **44** (2017) 460–481.
- 35. A. Jajarmi, B. Ghanbari and D. Baleanu, A new and efficient numerical method for the fractional modeling and optimal control of diabetes and tuberculosis co-existence, *Chaos* **29**(9) (2019) 093111.
- A. A. Kilbas, H. M. Srivastava and J. J. Trujillo, Theory and Applications of Fractional Differential Equations (Elsevier Science B.V., Amsterdam, 2006).
- 37. V. Kiryakova, A brief story about the operators of generalized fractional calculus, *Fract. Calc. Appl. Anal.* **11**(2) (2008) 203–220.
- 38. T. J. Osler, The fractional derivatives of a composite function, SIAM J. Math. Anal. 1 (1970) 288–293.
- S. G. Samko, A. A. Kilbas and O. I. Marichev, Fractional Integrals and Derivatives (Gordon and Breach Science Publishers, Yverdon, 1993).
- B. Shiri and D. Baleanu, System of fractional differential algebraic equations with applications, *Chaos Solitons Fractals* 120 (2019) 203–212.
- I. Abbas Baloch and Y.-M. Chu, Petrovićtype inequalities for harmonic h-convex functions, J. Funct. Spaces 2020 (2020) 3075390.
- S. Khan, M. Adil Khan and Y.-M. Chu, Converses of the Jensen inequality derived from the Green functions with applications in information theory, *Math. Methods Appl. Sci.* 43(5) (2020) 2577–2587.

- M. A. Latif, S. Rashid, S. S. Dragomir and Y.-M. Chu, Hermite–Hadamard type inequalities for co-ordinated convex and qausi-convex functions and their applications, J. Inequal. Appl. 2019 (2019) 317.
- 44. S. Rafeeq, H. Kalsoom, S. Hussain, S. Rashid and Y.-M. Chu, Delay dynamic double integral inequalities on time scales with applications, *Adv. Difference Equ.* **2020** (2020) 40.
- S. Rashid, M. A. Noor, K. I. Noor, F. Safdar and Y.-M. Chu, Hermite-Hadamard type inequalities for the class of convex functions on time scale, Math. 7(10) (2019) 956, https://doi.org/10.3390/ math7100956.
- Y.-Q. Song, M. Adil Khan, S. Zaheer Ullah and Y.-M. Chu, Integral inequalities involving strongly convex functions, J. Funct. Spaces 2018 (2018) 6595921.
- 47. S. Zaheer Ullah, M. Adil Khan and Y.-M. Chu, A note on generalized convex functions, *J. Inequal. Appl.* **2019** (2019) 291.
- 48. S. Zaheer Ullah, M. Adil Khan, Z. A. Khan and Y.-M. Chu, Integral majorization type inequalities for the functions in the sense of strong convexity, *J. Funct. Spaces* **2019** (2019) 9487823.
- Y.-M. Chu, M.-K. Wang and S.-L. Qiu, Optimal combinations bounds of root-square and arithmetic means for Toader mean, *Proc. Indian Acad. Sci.* Math. Sci. 122(1) (2012) 41–51.
- T.-R. Huang, S.-Y. Tan, X.-Y. Ma and Y.-M. Chu, Monotonicity properties and bounds for the complete p-elliptic integrals, J. Inequal. Appl. 2018 (2018) 239.
- 51. M.-K. Wang, Z.-Y. He and Y.-M. Chu, Sharp power mean inequalities for the generalized elliptic integral of the first kind, *Comput. Methods Funct. Theory* **20**(1) (2020) 111–124.
- M.-K. Wang, W. Zhang and Y.-M. Chu, Monotonicity, convexity and inequalities involving the generalized elliptic integrals, *Acta Math. Sci.* 39B(5) (2019) 1440–1450.
- 53. S.-H. Wu and Y.-M. Chu, Schur *m*-power convexity of generalized geometric Bonferroni mean involving three parameters, *J. Inequal. Appl.* **2019** (2019) 57.
- Z.-H. Yang, W.-M. Qian, W. Zhang and Y.-M. Chu, Notes on the complete elliptic integral of the first kind, Math. Inequal. Appl. 23(1) (2020) 77–93.
- 55. T.-H. Zhao, Y.-M. Chu and H. Wang, Logarithmically complete monotonicity properties relating to the gamma function, *Abstr. Appl. Anal.* **2011** (2011) 896483.
- W.-M. Qian, Z.-Y. He and Y.-M. Chu, Approximation for the complete elliptic integral of the first kind, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 114(2) (2020) 57, https://doi.org/10.1007/s13398-020-00784-9.

- 57. W.-M. Qian, Z.-Y. He, H.-W. Zhang and Y.-M. Chu, Sharp bounds for Neuman means in terms of two-parameter contraharmonic and arithmetic mean, *J. Inequal. Appl.* **2019** (2019) 168.
- 58. W.-M. Qian, Y.-Y. Yang, H.-W. Zhang and Y.-M. Chu, Optimal two-parameter geometric and arithmetic mean bounds for the Sándor-Yang mean, *J. Inequal. Appl.* **2019** (2019) 287.
- M.-K. Wang, H.-H. Chu and Y.-M. Chu, Precise bounds for the weighted Hölder mean of the complete p-elliptic integrals, J. Math. Anal. Appl. 480(2) (2019) 123388, https://doi.org/10.1016/j.jmaa.2019.123388.
- 60. M.-K. Wang, M.-Y. Hong, Y.-F. Xu, Z.-H. Shen and Y.-M. Chu, Inequalities for generalized trigonometric and hyperbolic functions with one parameter, *J. Math. Inequal.* **14**(1) (2020) 1–21.
- 61. B. Wang, C.-L. Luo, S.-H. Li and Y.-M. Chu, Sharp one-parameter geometric and quadratic means

- bounds for the Sándor-Yang means, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM  $\mathbf{114}(1)$  (2020) 7, https://doi.org/10.1007/s13398-019-00734-0.
- 62. T.-H. Zhao, L. Shi and Y.-M. Chu, Convexity and concavity of the modified Bessel functions of the first kind with respect to Hölder means, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 114(2) (2020) 96, https://doi.org/10.1007/s13398-020-00825-3.
- K. M. Owolabi, Modelling and simulation of a dynamical system with the Atangana–Baleanu fractional derivative, Eur. Phys. J. Plus 133 (2018) 15, https://doi.org/10.1140/epjp/i2018-11863-9.
- 64. D. Kumar, J. Singh, D. Baleanu and Sushila, Analysis of regularized long-wave equation associated with a new fractional operator with Mittag-Leffler type kernel, *Physica A* 492 (2018) 155–167.